DUMPSHQ

Free Questionsfor H31-124 v2.0 by dumpshg
Shared by L ane on 15-04-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

Which of the following cannot be used to classify IP packets?

Options:

A- VIAN Priority

B- MAC

C- Protocol type

D- Port number

E- Packet precedence

F- Outbound Interface

Answer:

F

Question 2




Question Type: MultipleChoice

Policy-based Routing can be used for traffic classification and marking when deploying QoS. Classification can be made based on ACL
and packet length, marking can be made by modifying DSCP or IP Precedence field of packet.

Options:

A- True

B- False

Answer:

A

Question 3

Question Type: MultipleChoice

When configuring Diff-Serv in QoS, the edge router on Diff-Serv network classify packets according to its source address, destination
address or other parameters, assigning different IP precedence for different packets, while other routers classify packets according to IP
precedence.



Options:

A-True

B- False

Answer:

Question 4

Question Type: MultipleChoice

Which of the following statements about the priority of zone in the Eudemon are correct?

Options:

A- The priority of the Trust zone is 80
B- The priority of the Untrust zone is 15
C- The priority of the DMZ is 50



D- The priority of the Local zone is 100

Answer:

B,C,D

Question 5

Question Type: MultipleChoice

An internal FTP server wants to provide the ftp service to the internet, which of the following NAT methods can be used?

Options:

A- Destination NAT
B- No-PAT
C- NAT Server

D- NAT Inbound

Answer:




Question 6

Question Type: MultipleChoice

Administrators can change the priorities of default zones in the firewall as required.

Options:

A- True

B- False

Answer:

Question 7

Question Type: MultipleChoice




Which of the following are two important working stages in PPPoE protocol?

Options:

A- Session Stage
B- NCP
C-LCP

D- Discovery Stage

Answer:

A D

Question 8

Question Type: MultipleChoice

What are the three components of PPP?



Options:

A- NCP (Network Control Protocol)
B- PPPOE
C- LCP (Link Control Protocol)

D- The extension protocol of PPP

Answer:

A CD
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